Ratio to ATLAS

0.5

sum E_ [GeV]

7000 GeV pp Underlylng Event
_| | Tt T T T T T | Tt T T T T | |_ 4(2
— o c

Sum ET (0.0 < p| < 0.8, "™ > 0.5(0.2) GeV, E‘Tl‘2 > 20 GeV, | < 2B}
= :E
— 93
— w0
- — Al
=" ", —53
— u o
- [ | ] E
— u 1=
— HX
~ = -
= = =
- k)

™
L — <
— =M
— Jw©
— —O
— —™

—i
= 3%
Z m ATLAS .5,
=— --3-- Herwig 7.2.0 default —§§
— —&— Pythia 8.301 default “--g) - §
- ’ 0w
= BERS
— =5 o
— -] o
=, | [ | | [ | | | | | [ | | | | - =
:l T T T T | T T T T | T T T T | T T T T |:
— =2

1
| —0.5

I T S SR T I T S SR T I T S SR T I T S SR T l
0 10 20 30 40



	Contents
	Page 1


